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TRE MUSBUM PROBLEM

A museum gift shop is having a craft sale. The entrance fee is $ 2.
®nce inside, there is a special discount table where each craft piece
costs § 3. |

- How could you represent the total amount that you would spend if

you were to buy any number of craft pieces at the discount price?
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THE MUSEUM PROBLEM

A museum gift shop is having a craft sale. The entrance fee is $ 2.
Once inside, there is a special discount table where each craft piece
costs $ 3.

What would be the total amount that you would spend if you bought

10 graft pieces?
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What would be the total amount that you would spend if you bought
30 craft pieces? |
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What would be the total amount that you would spend if you bought
100 craft pieces?

How could you represent the total amount that you would spend if

you were to buy any number of craft pieces at the discount price?
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Does this problem remind you of any other problems that we have

done? #C S

If so - which problem or problems - and how are they alike?
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